ooobbbbofooobb@moooooon)
00000000 (0000 00000000000000)0

000000000000//00000000 (00)
//000000000000000(00000)//00
000000//000000//00000000000
00//0000000000//00000000000
0000//000000000000// 000000
0000000000//0000000//000000
0000//0000000000

0000
(0000000000000000000000000
0000000000000000000000)0
00000000000000000000(000000
00)0
0000000000000000000000000
0000000000000 1.101.30000 2.10
240000 3.103.4)0

o JUOOODODODODOO

uboooobobooobooooooobooog

00 (0000000)— 0000
00 (00D0D0)0000o0o0
0Ooooooo
00000000 — 000000000

}—>IZ|DIZIIZI|:||:I

000000 S, D2,12,82, D3, 130000000000

000000 DP'O0R'OOO0O0OOOOOOOOD?0O

R’00000000000O0D"0O R"O0OODDOODO
goooo

00000 «0000 (DO0ooooo)oooooo

000000 D'0 '=7/000000000000D2
0O 2000000000000

e NIIUODODOODUDOOUDO (OOOO)O
210000

goboboobooboboobbooobooobgo
ggo

n 0000000000000 (Hausdorff)DDD
00000000 R"O0OOO0O0O0000
goooboooo M O nOO0D0O0O0O DDODOOOO
Hausdorff OVp,q € M,(p # ¢),3U,V, U 0O p OO0ODODO
VD ¢OOODOOUNV =0, 000000000Vp € M 3W,
WOpOOOD,3Q, Q0 RPO00003p: W —Q, p 00
goog

o IUOOODODODODO

nO000000 (Cartesian) 00 (000000 (Euclid)
O0)0OR"™ :={(z1,...,2n) |z € R, (1 i < n)}.

van) € R, [l = /320, 7.

x=(x1,...

n 00000 (closed disk, 00 O, closed ball)O
D" :={x e R"||z| £1}.

n 00000 (open disk, 000, open ball)O
Dm={z e R" | |z| < 1}.

(n—1)0000 (spheredS™ ! :={z € R" | ||z| = 1}.
Sl.00D0sS%. 00083300000

0000 (unit interval, 000000) I = [0,1] :=
{reR|0Zz <1}

n 00000 (cube)T I™ :={z = (21,...
0z, £1,(1<i<n)}

,Zn) € R™ |

220000000000
O “coboooroobooo

S2 T2 T2HT2 T2HT2H#T? = #3T2, ... #,T2, ...

#0000000000000(M0O00O0O00)DO
S?=#,72000000000000

000000 T2 T?#T?, T?>H#T?#T? = #,7?> 000
000

O «“0oboboogorobgoo

RP?, RP2#RP2, RP*#RP*#RP?, ... #,RP?, ...

gbooooooooooooooooooooboonog
gboboooooooo

23000000000000

00 (D00O00genus) g:
00 #,70 #,RP?00000 ¢g000000000
S?2000 0. 77000 10RP2O0O0O 1.



000000 (Euler characteristic, Euler number)
X(S?) = 2,x(#,T%) =2 —29.  x(#,RP?) =2—g.
(xOOoooooo)o

00S?0 RP2O0OOOOOT?0 RP?2#RP200O0O
OD0O0#,.47°0 #,RP200000.00000

X(#g1T?) =2-2(g — 1) = 2(2 — g) = 2(x(#,RP?)).

o IUOOODODODODO
3.100000

00 X 00OOO <« X 00000000000
“X0000O0O0O070 “X000000070000
00000000000000(MO000000000
0O000)O0

00000000000000000 (00000000000000
0oooo)o

X0000000000000000 X00000000
X0000000000 (00000000000000)0 X 00
0ooooo

XOO0O09CXDO XO00000000

Ox ={U|UCX0OX0O000 }(CPx:={9]|
SCXO XOOD00O0})

o0o0bOob0obOdox 00X Oooooboooobo
000000 XOOODOOODOO000 (topology) O
0000000 (topological structure) 0 O 000 O

obOobOobOobOoboobO0o0oomoiod « 0000
ooooooooooooDo

goboooooooobo0o0ooooooooooooooboobobobooobo
gooooooooboo0ooooooo
XOOooOoooooooooooo xoooooooo

X 0O0O0oUoooooOoo (Doooooooooooooo)o X
gooooooo

X0OO00DPCXO XO00ODOoooooo

2000000000000000000

ORrR*O00000O0O

vcAao xoooo £pgrroooooo v o

oooov=UunAOO0ODOOOD

000000 Oa:={UNA|U€Or:.} 000000
000000000000

00000 (X,0x)00000 ADDDOO (000
0)0

Oa:={VCA|IUEeOx,V=UnNA}.

gbooooooboooooooboooogon

go0ooooo oo o, 000000000O0DDOCO
gogod

gmoboooooooooooboooooooooobobooooooo
0000Dp*00000000000S?20000000000000
oooooooooooooooooooo

33000 (000000000)0

X0OO0O0~0 X00O00000000
000000000000000 X0 ~000000
0(000000000000000)0000
000000 X/~000000 (‘000700000
0ooo)o

0000000 X/~00000000000 z€X0
000000000000000000zeX 0000
000000000000 (20000 € X/~0000

00 7n:X —>X/~0 n(z):=[ 0000 (000)0000X O
00000 Z0OOOO ¢: X —»Z00000X 000000000
00000000 Z0OOOOOO0O00 0000000

O0OR/Z. 00O0ODROOODOOO ~0O x~:c’<di—f$x—ac’EZD[l[l
00000000000 R/~0000000e:R—S1CR2=C
OOe(x) :=ezp(2nz) 0000000000 e0 R/ZO S'O0OO
ooooood

340000000

X0O00OO0O~0 X0OOOOOOOoOooOx oooo
0000000 (000X O0oDoOooo Ooxooooo
oo0oo0)ooo00d X/~0000 (Do0)oooo
O07rn:X—->X/~000000000000

UCR'O R*OO000 &k

OVaeU,3e>0,Vz e R", (|x —a|| <e=2€U)0

Oo0o0oooo oD Rroooooobooooooooo
oboooooooooonbo

DI:IDI:II]I]DO”CR”EI R*O00D0ODOOOOO0COODOO

0oooodo sS»!'cR*O0R"0000000O0OO
ooo

000000 ADOD@MOOOOODOOoOOooOooDo
goooobogooboobgd

OR*0O00000 ADOOOO(DOoOoO)O

OUCX/~0 X/~000004%0,1(U)C X

OXxXooooo

A NU)00OU O 0000007 (U) = {z € X |
m(z) e U}.

0000ooO0o0ooo0o0UoOo0 (ooo,0oon)
pgoogd

X, Z0000Oyp: X —-Z0O0O0OOOOOX OODOOOODODODOODDO

X OO o0000D0O00DO ZDOOOOUO DODOOD™UucCcZzO
def.

ZEIDDDD<:>D@_1(U)QXD XOoOoooo
0000000(X,0x)000000¢:X—2Z000
0000000000z ={UCZ|n Y (U)eOx}O
0000000000000000000



000000000 p: X—-Z0O0O(XODOOOOZO
0000000)0000ooOoooooo

coooobboox,yoooooof: X -y D0OODODO
000000000X O00OO00oooooofX)cCcy
oooooobooooooobo

O000000OR/Z. O0O0O0OROODOO0O0O ~0 ¢~ 2

& ¥ eZD00000DODOOODOR/~DO

OD00O000OROOOOO0 R/Z00000000000
R/Z000000000000000(00007=][0,1]
0000 «()=R/Z000)0

0000000e:R — ST Cc R2=C O0e¢(x) :
erp(2rx) 0000000000 e0 OOOODODDO
O0e:R/Z—S'000000000D0

O000000X O0ooooooooooopACcx O
(0000000 0)00000OD0D0O0DUOD0ODADO X
oboooooooooonoo

3500000
XO0O0O0OOOA,BCXUOOOOOOe:A—-BOO
ooooooo

X0O0 AD BOOOOOOOOOOOOO X/eO
00X 000000 ~00p~qep=q¢q00000
peADDNDODO g=¢(pO0000pe BOOOO
¢=¢ (p)D0O0000ODOOOO X/~0000
ooQ

X, YyooooopopACX,pCcyoooooooooo
O00p:A—BOOOOOOOOO

XO0Y0Oep:A—-BOOOOOOOOOODOO
XU, Y 00O X UY (disjoint union) 000000

~0O0p~q&y — y00DDD pe ADDDOD

¢g=¢(D0000peBOO0OO q=¢ Y (p)OODO
00000000 (XUY)/~0000000

0000000000 I2=IxI,(I=[0,1)0000
00000000 (000000S'x/000000)0
0000000000

0000000 000 I2=IxI,(I=[0,1)0000
0000000000 (Mébius) 0000000000
000

0000000 00 S'xI000000 72 (8 x S!
000000)00000000000

000000000000 RP?2:=(R3\{0})/~0O0O
00000000000000000000000000
2,2’ e RP\{0} 00000z~ €500 ce R\ {0}
00000z = ca').

0000000ORP?20 S?/~000000000000

0000z, € $20000 z~2 4% - 0ODO

r=-—x.

0000000 00000000000 (s'*ooo)o
000 (P?000000)00O0O0O0O (S*000)0O0
000000000 RPPODDOOODODDOOOD

oood

e JODOOODO

410000 X0OOOOooooooooo I1=100,1]0
0 X00OUOOOO+¢:I—-X0O0OOO X O0OOO (path,
00000, arc) D0000)=p,l(1)=¢000 £0
p0¢00000000p0 ¢0000¢0 (00000
gbooooo

00X = R? - {(0,0)}. ¢ : I — X, ) =
(cos(mt),sin(nt)), 0 p=(1,0) 0 ¢=(-1,0) 00000
0¢:1—-X 000000 @DVU:XDDDDDDDD(ﬁl(U)D

100000« OV € I,VU, £(tp) DDDO0O0OO0D03>0000
OO0tel,|t—to|<e=4(t)€U. D

I=[0,100000 [¢,b) 0000000000000000,1] 0
00000(@O0000000000)0

0000 XO0O0OO0OOOO0OO0OO0O0O00000 pge X
0000OpO ¢OO0D0D00OOOOO0OOOO

0000000 R2\{0}00000000000000
0000000 RO R2000000000000

(1 - X0 —-XU0O00OoOooooooooao
00) =p=0(0),£(1) =q=¢(1). 000000000
H:IxI—-X0¢0O0O/¢ 0000000 (homotopy)
L ge,s)0<t<1,0€s<1 00000
H(t,0)=£(),(0=t=1), H{t,1) = l'(t),(0 =t =
1),

H(0,8)=p,05s<1,H(1,s) =¢,05 s < 1.

00¢+000000000s0000000000
000000000000 0000000 (X0O0O0oOOo)oooooo
0oo

00X =R2-{(0,0)}. £,¢:1— X, £¢):
2 () (cos(rrt),isin(ﬂt)). H :

(cos(mt), sin(7t)),
I xI — X, H(t,s) :=

t
cos(ﬂt),(lfg)sin(ﬂt))EIDEIEIDHEI ¢00 ¢ 00000000
oo

(00 ¢000000000000000¢0 ¢0 (0
00000000)00000 (homotope) D00 00
00000 (homotopic) 1000000 ¢~¢ 0000

goooooooooooooooooo
{~/

Ll =0~/
(@O0 0 =) = 00,
0000000 ooobooooooa

42000
(:I1—-X0OpOdqOOOOOM:I—-X0OqOrQd
0000000 @OooOoUO mOD0OOOO0OO)O

(0 m0O0 ﬁom:IHXIZI1
(¢ m)() =20, (0 1 < 3),

(€-m)(t) =02t —1), (- <t<1). 00000

|~




gbooobooboobooobon

gooobobobbboooooobon
U~ 00 me=m)=0-mx~l-m.

oooooooog (-m)-nx~f-(m-n).

43000
XO0O0D0Ov¢:I—-X0000v¢000 ¢
t),(0<t<1) 000006 T — X0
(0000 ¢ '0o000e00oo ¢ toooo

L(t) == (1 —

1
(0). p: I—-X 00000 pt) =p.
(1. ¢: I—-X00000 §(t)=q

goQ00000 X, YyOooooooA,BO XOoOoooo
X=AuB0OOUOOODO H:X —-YOOUOOQOOO
Hs:A—-YUOH|p:B—-YOOUOOUOOOHDO
ooooooboobooo

oo0ooOoOoo (- 1~p000000

440000
0¢:]—X00000000000000 (40) = £(1))
000 ¢00000 (closed path, 00000 OO loop)
O000Ope=4¢(0)=4(1) D00 (base point) 00O O
OO0OpoeX OOOOO

QX,po) =={¢:1— X[ (00000 £0) = (1) = po}
agood
~(0000000000)0 Q(X,po) 00000D00(4.1
00)o

00 m,m';n e QX,pp) DOOO
(=000 me=m)=L-m~l-m.
(£-m)-n>~{-(m-n).
Eﬁofﬁ,p}yﬁzﬁ.
= f_l"’p}),g_l'gzp}).

0000m(X,po) ==X, po)/ ~0000p, 0000
00 X O0OOO (fundamental group) 00 OO

OO00ooopoO0 ¢-pp~¢ 000000

e JIDDDODODDOOOOO

510
00 GO0000 +(g1,02€G,g1-92€G) 00000
000000000000000G00 (group) 0000

() GOO0O0U0O0UD00O e000O00OOVgEeG,g-e=
g,eeg=¢g000000(e0d GOOOO (unit element)
0oo)o

(i) GO0000 ¢g0O0O0O0O0O0O0OOg-g'=e€,g'-g=c¢
000 ¢ eGUO0OO0OO0(0O0O0O ¢ 0 gOO
0000000 ¢ to0oo)o

(i) G0O00000 g, hkOODO(g-h)k =
000000 (@OO0n)d

g-(h-k)

O00G=R\{0}. 000O000e=1

O0G=R. 000000000 e=0,00 "¢~ = —a.
00G=2Z0000000
00G=S':={ze€C||z/=1}0000000000
10
00G=GL(2,R):={A|ADD00000O0O }. 0O
000000 L(=E,) 000000000000
00G={}00000

00G=258,:=({1,2...,n} 000000000)00
00000000000 i[dO000000000000nR
0000 (000)o

O0G={£1} 000000000

0 GOoOooD (0oooooon) £y heg, g h=

h-g.
OOR \ {0},R,Z,S" {e},{+1} 0ODDOOG =
GL(2,R),S,(n>3)00000000(0000)0

O000000OGL(2,R),Ss000000000OOOO

5200000000
GHOOOyp:G—-HOOOOOOO
v 0ODOO0OOO (DoODOOoOoO,

01,90 € Golgr - 92) = p(g1) - 0(g0).
(00 -0 GU00O0O0O00 -0 HOOO)Oo
00000¢(e) =e ¢(g™") =p(9)' 0000
O0¢p:R—>R\{0} 0 ¢(z):=e* 000000 OO
DDDDD(DD e0000000DDOOOOODD)DO
O0p:R—SHCC)O p(x):=e* 000000 0O
googooo

O0¢: GL2,R) — R\ {0} O o(A) := det(A) 000
ogdd oooobboog

O0¢: S, — {£1} 0 ¢(0) :=sign(e) (¢ D0OODD
000 +1,00000 -1)000000 oO0O0oOooO
oad

00000 ¢:G—-HOUOOOO (DOOO0OO, isomor-

phism) €%, DO DODODOOOOD ¢! H GO
00000 & 00000
000000000000000000000000000

homomorphism)

0OGO0O HOOO (isomorphic)<de:f'>|:||:||:||:||:||:| @
G—-HODOOOOO

GO HOOOOOO0OOG=HOOOO

O0ORy ={zeR|2z>0, 000000000000
¢:R—=R, 0 px):=e"000000 o 000000
O0000O0ORO Ry 000000

G =G,
G=H=H=G
G2H H2K=GxK.




googbooo gobobooon

53000000000
GOOODHCGOOOOOOoooo

H O GO0OO0OO0O (subgroup) g(O)DDD ee H (i)
hihs € H=hy-hoc H(i)he H=h"'(h0 GO
OooOO0)eH
ooGcO00o0ooooooooooono

O0OR, O R\{0} 00000

O0zZz0O ROOOOO

O0meZO0O000OmZ0O0 Z20O00O0O0OO

00GL(2,Z) :=(det(A) = +1 00000000000
D0D0O0)0 GL(2,R) 00000
O0A,:=(S,000000000)0 S, 00000(n
0ooo)o

G,G'000¢p:G—G 0000000000
Ker(p) == e) :={g€Gp(g)=e} 0 GOODODODO
In() = #(G) = {lg) |¢ € G} 0 ¢/ 00000

0000000 00000 ¢:G — G 00000¢
000 < Ker(p) = {¢} 0000000 000 &
Im(p) =G’ 000000000

GOOODHCGOOOOOOooOo

HO GOOOOOO (normal subgroup)

&VheH,VgGG;g_l-h-geH

sVgeG,g'-H-gCH.

DOR, 0 R\{0}ODOOOOOO

JdOd0zZz0O ROOOOOOO
O0meZO000OmZ0O ZO0O0O0O000OO
O0A,:={c€eS,|oc0000}0 S, 0000000
DOCGL(2,Z) 0 GL(2,R) 00000000000

O00O0O0OO0O0H\CGMANeAN OO GOOOODOOO
OO0O0OD0ODOH:=Mead\0 GOO0O0OOOODO
oooooo

p:G—-G 0000000000 Ker(p) O GOO
oooooooo

gooobobb ooooooboo
Im(p) 0 G 000000O0OOOOOOO

5400000000000
HOO GOOOOoOoOooo

GO0000 ~0O0g; ~ gs &5
Jhe H g1 -h=go (<:>92€ng)|:||:||:||:||:||:|
geGO000 [g)0 gH(CG) OODOOO

oo00o0oooo0 OO ~0 GOOOOODOOOOODO
googd

00D (00D000D000)G/~0 G/HOOOOG
0 HDOOO (0)DOODOO0O0DOG/HODOOO (O)
ooooogoa

000 (0O000)0 7:G— G/H,

m(g):=[g]=¢gH (¢00O00)0000O0
HOOODODOOOoOoOooOo

g1~ 92,91 ~ 9o = G191 ~ 92 - Ga-

0000 -l¢]:=lg-¢) € G/HODOOOODDOOO
G/HOOOOOOOoOOoOooo

G/HO GUUOUO0O0O0O0O0OO0O0OO0O0 (residual group,
00 0O quotient group) DO OO OO0OO [e]0[g) DOO
O '=g"]DO00
7:G—G/H 0000 0OKer(r) =H.

00G/G={e} (00D0OD0)O

O00G/{e} =G.

00R/Z, Z/mZ, (R\{0})/Ry, Sa/An.

00000
G,KODODy:G—KOOOOOODOODODOOOO
0000 %:G/Ker(p) —» Im(p) D0O0O0DDO0

OO0R/Z 2~ S',(R\ {0})/R; = {£1} = S, /A,.
gooooo0o oooooooooooo

5.5 000

po 0000000 X 0000 (fundamental group)
m(X,po) == QUX,po)/~000000
gododoooooooooooooooooboooa
ogood

oo [q-[¢]:=[¢-¢]0000000
(¢-¢0000000)0

po0pye 000 XOOO m:1I —-X0OOOO0OO
00000 ¢ : m(X,po) — m(X,p1) OO0 e([4]) :=
[(m™1-¢)-m)0D00000ODO

0000X 000000000000 m(X,pe) OO
gooooono pp00ObOOO0o0ooog

XOOUO0ooooooooooooo m(X)0ooooo
googod

f:(X,po) — (Y,qo) 00000000 O0DDOOOO
O fu:m(X,po) = m(Y,q0) OO f([f]) :=[fol] O
0000o0o(@OoU fOoOo0ODOUOOOOUOOOOO
0oo)o

O000000 fg O well-defined 000000000

(1) f:(X,po) = Y,q0),9: Yqo) = (Z,70) 0000
00000ggo fge=(gof)s:m(X,po) — m(Z,r0)
gooooo

(2) (idx)x : m(X,po) — m(X,po) OOODODO
idy, (xpo) 0000

0000000 00 (1),(2) 0000

(000000000) (X,p) 0 (Y,q) DOOOOODO
000 m(X,p) 0 m(Y,q) 0000000000
00(X,po) 0 (Yiq) DOODOOD0D000D0 f:X —
Y, f(po) = ¢ 00000 g:Y — X, f(q) =po O
O000gof =idx,fog=idy 000D00O000
ooo

gboooooooooon



560000000000

(D", po) 2 {e} (OO 0). w1 (R", po) = {e}.
(Sl,po) = 7.
(
(

(5) ﬂl(RPQ,po) = Z/QZ

oopr~, R SYL,T? S2RP2P000000000
0000000 7 (D™ po) = {e} O m(R™, po) = {e} O
ooo

000 0000 f:D?—-D?0000000000
gboogogoood

000000 f:D*"—DrO0000000000000000000
0oooo ’m,1”(000000)0 ”H,”(00D0D00D0)00000
oooo

o UOOODODODODOO

6.1 0000
(X,OX),(J,OJ)DDDDDDXXJDDDDDDDDD
XxJOOOoOoo

def,

UCXxJO XxJOOOO <=VY(x,t) € U,3V €
Ox,WeOQ,zeVte WV xWCU
000000000000 X0 Jooooooooo
U0 ooooobooooboooobooooon

0000000 R?200RODROOOOOOOOOR?
0000000000000 O0D00O0O0O (Cooooo
0)oooooo

Oooooooo0d nx : X xJ—=X0Onmy: X xJ—=J
o0o00o0Dooooogon

OO0000D000 toeJOOOODOG, : X - X xJ,
it,(x) = (x,tp) 000000 0OOO0OOOOO

0000000X,Yy 0OOOO0py € X,qo€Y 000
000000 m(X xY, (po,q0)) = m(X,po) x m1(Y, qo)
gogg

620000000000
X,y 0OOOOOf,¢: X —>Y OOOOOOOOO

fO ¢gO0OO00OOO0OO (homotope, homotopic) &k g

000 H:XxI—Y OO0H(z,0) = f(z),H(z,1)
¢(xy 00000000000

00000f~gO0000HDO f00 ¢0000000
(homotopy) 00O OODO f,9,h: X =Y O0O00OOO
gooono

(1)J;Lﬁf,(2)1"29:>g:f7(3)fzg,g:h:>

f.g: X =Y, f.¢d:Y—>Z0O0OOOOODOOOODO
f~g f~g=fof~gog

gobooobo obgoboo

ACXUO0OOO0OOOOOODO H: XxI—-YO AQOO

000 (ADDOOOO, stationary) 55wz € A, Vs € I,
H(x,s) = H(x,0).

AD000 fO00 ¢000000000000000
f~agOODODO

00O ¢¢:I—Y0OODOOX=/000000000
000 ¢~¢00000000000A=20I(:={0,1})
00000000000000000000¢~, ¢ 0
o000

63000000000000000
000000000000 f: (X,po) — (Y,q) O g:
(X,po) — (Y,q0) 000O0D0DD00O0O00 (f ~p, 9)

&t} 000D fO0 ¢00ODOOO0DDOOO000

H(z,0) = f(z),H(z.1) = g(z), H(po,s) = qo. 00000
goooooo

e 9= fo =92 :m(X,po) = m(Y,qo0).

o IOUOODLOOOOOODDOODODO

r1000000oon
XOovyooooooooo

oooo f: X —-YOOOooo (homeomorphism)éiéf}f
000O0ooooooftoooo

XD0DYODOOOOO (homeomorphic)(DOOOOODO

00000 (topologically isomorphic) 0 OO 0) JLuig'e

o0 yoooooooooooo
00000X=Y OOOO

X,Y,Z00000000000(1) X~ X, (2) X ~

Y=Y=X 3 XY, YxZ=X~Z.

gobooobo obgoboo

0000 f: X ->YOOOOOOOO0O0O (homotopy

equivalence)fiéf}ljljljlj g:Y - X 0OOgof ~idy :
X—-X00 fog~idy: Y -Y OOOOODOOO
ggood

X O0YUOUOOOOOOO (homotopically egivalent)

&y oo yooooooooooooooooo

oooooX~Y Ooooo
0000 ~00000000000000000000000000
0000000000000 000000000000000

X,Y,Z00O0OODO0OOOOOO(1) X ~X, (2) X ~

Y=Y>2X B) XY, Y>Z=X~Z.

oooooobooooon

gboooooooooon



200000000000

X, YoooooooDoooOX=Y=X~Y.

0000 X 00000000 &5 0po0 pye X

O0000O{py} 0 XOOOODOOOOO

nooo xoooooooo £, - x - x 00

oboooobooooog

obooooobo booog

rJ300b0obooooooon

X,y 00oOoOoOoOODOOoo0oOoOoOoo0o
X~y (00OO0OD0O0)=m(X)=2r(Y)(@0O00)0

0000000 X,Y OOOOOOpy € X,qo €Y, f:
(X,po) — (Y,qo) 0000000000000 O00O
g:(Y,q0) = (X,;po) DOOOD0go f =, idx, fogay,
idy (00000000000)000000000 fg
m(X,po) —» m(Y,q) 00000000000000
ooo

00000000000 X0000000000000
000000000000000
00000000000 X00O0000000o0o0o0x
00000000000000

00000000000 XO0000000000000
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000000000000deg(¢-m)=2-m(1)=2£(1)+
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